LEBHE. HAKBRUHAMBAROES (FRI19FE)

CEHIETHE) (HAT:PY)
EYE] 2 #3E 4 5l
i AR IR K4y ggg H19.8.29 - H19.9.5 - H19.9.12 - H19.9.19 - H19.9.26 -
LR | RiAgkR LR | RiAgkR LR | RiAgkR LR | RiAgkR LR | RiagkR e |
JeMEE |xbB397 - Rk 1,020 | 3,305 3.2
BELOWD - mERXK 510 1,612 3.2
R DIEL - mERXK 816 1,387 1.7
# & |boiEkh - mRK
DORBZT = &8 3 540 972 1.8
FoLLB = &8 3 540 983 1.8
B F|bERIEDL - &8 3 540 1,112 2.1
VEDIEN AR &8 3 540 1,458 2.7
B % |F=ve - i £:8 3 108 151 1.4
VEDIEN = mERXK 540 1,285 2.4
® B |bEIEDL = mERXK 612 2,326 3.8
W # |avesy [l mRK
TxmE B &8 3 216 724 3.4
E N |[aveny - mRK
TxhE = &8 3 216 1,091 5.1
& B |[aveny TED | Rk
avesy 2 H | mEk
avesy WY | mERK
vEDIEN AR | mEREX
K B |[aveny A Rk 1,200 4,464 3.7 480 2,664 5.6 480 2,592 5.4 480 984 2.1
avesy e
#H K |Aavesy AR &8 3 480 1,488 3.1
HEVDOF - mRK
T E |aveny - Rk 1,200 3,576 3.0 1,200 3,012 2.5 360 1,572 4.4 360 936 2.6
R B |[avedy AR | mEREk
HEZEL - i £:8 3
#H B |aveby — & 32 0 0.0
avesy — & Rk 490 722 1.5
avesy R &8 3
avesy A A Rk 122 294 2.4
avely = % &8 3 122 282 2.3
ZLNEE - mRK
B W |[aveny - Rk 1,200 2,436 2.0
AN |AveHY - Rk 600 1,824 3.0
&/ F |mveny - Rk 504 517 1.0
NFZFES - Rk 504 504 1.0
i B |avedsy AWK | RERXK
= E |aveny — & Rk 194 842 4.3 259 272 1.1 259 518 2.0
# ' &8 3 130 259 2.0 130 156 1.2
® B/ |[avewy - mRK
*XeHY - &8 3
B I |[avedY - Rk 360 936 2.6
VEDIEN = &8 3 240 768 3.2
B #® [=vesy - Rk 216 119 0.6
NFZFES -
[T = = = 7)) - Rk 292 605 2.1
= D) - mRK
vediEN - mRK
F ) |eseby - mRK
B/ m (e/ebY - i £:8 3
# ® |e/eny - i £:8 3
FLIY = &8 3 540 1,220 2.3
B’ A |[avesy [ Rk 216 680 3.2
= D) - mRK
FROLEEA - i £:8 3
K & |esedy -
At 1,304 4,418 3.2 2,400| 7,476 3.1 1,229| 4,767 3.9 1,440\ 5,232 4 12,385 28,754 2.3
LR 2 2 4 4 28
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CEHIETHE) (HAT:PY)
e HIE 8l e 10
Bt P RS ggg H19.10.3 R H19.10.10 R H19.10.17 R H19.10.24 R H19.10.31 R
LRk | RiagkR LRk | RiagkR LR | RiAgR LR | RiAgR LR | RiAgR e |
Je¥E |&55397 - &8 3 816 6, 569 8.1
ELOWD = &8 3 204 2,101 10.3
i DIEL = &8 3 408 2,326 5.7
# & |[LoigEh = &8 3 240 1,788 7.5
DORBZT = Rk 324 1,274 3.9
FoLLB - Rk 324 1,987 6.1
B F|bEEIEDL - Rk 540 1,620 3.0 216 464 2.2
VEDIEN AR Rk 540 2,214 4.1 324 367 1.1
B R (P = Rk 108 346 3.2
VEDIEN - Rk 540 1,922 3.6
* B |bEEIEDL - Rk 612 2,766 4.5 612 M 1.3
W # |avesy ol Rk 108 140 1.3
TxmE B Rk 216 788 3.7 216 659 3.1
E RN |avesy - Rk 108 248 2.3
T & - Rk 216 918 4.3 216 594 2.8
BB |[avesy HiED Rk 216 76 0.4 108 270 2.5
avesy = H Rk 216 43 0.2 108 400 3.7
avesy i3] Rk 216 0 0.0 108 389 3.6
VEDIEN AR Rk 216 324 1.5
K B |[aveny AR Rk 480 1,224 2.6
avesy ki
#H K |Aavesy AR Rk 480 1,104 2.3 480 1,008 2.1
HEVOFH = mERXK 120 792 6.6
F ¥ |avesy - mRXK
R’ B |aves) A Rk 490 588 1.2 490 661 1.4 490 1,714 3.5
HERTEDL - Rk 245 404 1.7 245 330 1.4 245 930 3.8
# B |aveny — &
avesy — & Rk 367 M 2.1
avesy R &8 3
avesy B k| mRx
avesy B % | mRX
ZLNEE - mRK
B W |[aveny - Rk 600 1,032 1.7
AN |[AveLY - Rk 300 912 3.0 240 972 4.1
&/ F |mveny - Rk 252 1,008 4.0
NFZFES - Rk 252 1,273 5.1
g B |avesy AR Rk 240 312 1.3
= B |[aveyy — i | mewmx
# '] | mBX
¥ B |[avesy - Rk 270 972 3.6 270 1,215 4.5 270 824 3.1
¥XehY - Rk 270 1,377 5.1 270 891 3.3
B I |[avedY - Rk 360 1,560 4.3 240 756 3.2
VEDIEN = &8 3 240 816 3.4
B #® [=vesy - Rk 216 475 2.2 216 108 0.5
NFZFES -
[T = = = 7)) - Rk 292 594 2.0 292 583 2.0 292 875 3.0
= D) - mRK
VEDIEN - Rk 184 778 4.2 184 950 5.2
F ) |eseby - mRK
B/ m (e/ebY - i £:8 3
# B’ |e/ehy = &8 3 1,512 1,922 1.3
FLIY = Rk 540 659 1.2 540 896 1.7
B’ A |[avesy [ Rk 216 270 1.3 324 281 0.9
e/ELY - Rk 432 1,253 2.9
BROEEA = &8 3 216 605 2.8
K & |esedy -
B 8,470 24,048 2.8 3,754 9,619 2.6 3,418 6,878 2.0 4,588 18,236 4.0 1, 506 6,279 4.2
LIRS 25 16 7 13 5
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CEHIETHE) (HAT:PY)
#E11E #E12H #E13E 14 #15[
Bt P RS ggg H19.11.7 R H19.11.14 - H19.11.21 - H19.11.28 - H19.12.5 -
LR | RiAgR LR | RiAgR LR | RiAgR g LR | RiAgR LR | RiAgR Bt |
Je¥E |&55397 - &8 3 408 7,630 | 18.7
ELOWD = &8 3 204 3,244 15.9
i DIEL = &8 3 204 3,264 16.0
# & |boiEkh - i £:8 3
DORBZT = &8 3 324 2,138 6.6
FoLLB = mERXK 216 2,808 13.0
B F|bERIEDL = mERXK 216 680 3.2 216 1,145 5.3
VEDIEN A Rk 324 680 2.1 324 1,372 4.2
B R (P = &8 3 108 281 2.6
VEDIEN = &8 3 324 907 2.8
® B |bEIEDL = &8 3 367 1,346 3.7
W # |avesy ol Rk 108 65 0.6 108 497 4.6
TxmE B &8 3 216 842 3.9 216 799 3.7
E RN |avesy - Rk 108 162 1.5
T & = mERXK 216 702 3.3
BB |[avesy HiED Rk 108 713 6.6
avesy = H Rk 108 670 6.2
avesy i3] Rk 108 1,037 9.6
VEDIEN AR &8 3 108 821 7.6
X ¥ |[mveHy AR | mEREk
avely JeoKiE 120 612 5.1
#H K |Aavesy AR &8 3 240 1,116 4.7
HEVDOF - i £:8 3
F ¥ |avesy - mRXK
R’ B |aves) AR mERXK 245 318 1.3
HERTEDL - &8 3
#H B |aveny — &
avesy — & Rk 734 4,994 6.8
avesy R &8 3
avesy A A Rk 245 1,603 6.6
avely = % &8 3 245 1,812 7.4
ZLVWEE - Rk 245 1,273 5.2
B L |avesy - mRK
BN |avesy - mRK
B/ # |aveny - i £:8 3
NFZFE - mRK
i B |avedsy AWK | RERXK
= E |aveny — & Rk 194 1,102 5.7
# ' &8 3 130 467 3.6
¥ B’ |mveny - Rk 270 473 1.8
¥XehY - Rk 270 473 1.8
& m |[aveby - mRK
VediEN - i £:8 3
B & [aveny - mRK
NFZFES -
W\ |avesy = &8 3
= D) - mRK
VediEN - i £:8 3
F N |esehy - Rk 259 920 3.6
B/ m (e/ebY - i £:8 3
£ B |e/edy - Rk 324 1,242 3.8
FLIY - i £:8 3
A& |aveny BT o# | meREk
= D) - mRK
BROEEA - Rk 216 238 1.1
K & |esedy -
B 1,080 2,840 2.6 504 1,238 2.5 3,391 14,282 4.2 1,380| 16,549 12.0 2,021 13,534 6.7
LIRS 4 2 15 6 9
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CEHIETHE) (HAT:PY)
#16[ 17 18 19 20
L A% IR K4y ggg H19.12.12 - H19.12.19 - H20.1.16 - H20.1.30 - H20.2.27 -
LR | RiAgR LR | RiAgR LR | RiAgR LR | RiAgR LR | RiAgR Bt |
e |&b5397 - HeRK 408 5182 | 12.7 408 | 3,325 8.2 408 | 2,713 6.7
ELOWD - &8 3
plpoiEL - meBE
# & |boiEkh - i £:8 3
DORBZT = &8 3 540 2,614 4.8
FoLLH - i £:8 3
B F|bERIEDL - mERXK 216 940 4.4
VEDIEN AR mERXK 216 972 4.5
B % |P=ve - i £:8 3
vediEN - i £:8 3
*® B (HEIEDL - i £:8 3
W # |avesy [l mRK
ExwE MOBR | mERK
E N |[aveny - i £:8 3
kX - i £:8 3
& B |[aveny TED | Rk
avesy 2 H | mEk
avesy WY | mERk
vediEN AR | mEREk
X W |mavesy AR Rk 120 600 5.0
avehy e
# K |[avedy AR | mEREk
HEVDOF - i £:8 3
F ¥ |avesy - mRXK
R’ B |aves) AR mERXK 122 612 5.0 122 710 5.8
HERTEDL = &8 3 245 1,542 6.3
#H B |aveny — &
avesy — & Rk 1,224 7.479 6.1
avesy & A Rk 245 808 3.3
avesy B k| mRx
avesy e % | mEBX
ZLNEE - mRK
B L |avesy - mRK
BN |avesy - mRK
B/ # |aveny - i £:8 3
NFZFE - &8 3
i B |avesy AR &8 3 120 408 3.4
= E |aveny — & Rk 194 609 3.1
# ' &8 3 130 285 2.2
® B/ |[avewy - i £:8 3
*XeHY - &8 3
B I |[avedY - Rk 120 552 4.6
VEDIEN = &8 3 120 720 6.0
B [avedy - Rk 216 724 3.4
NFZFES =
[T = = = 7)) - Rk 108 184 1.7
e/ELY - Rk 108 184 1.7
VediEN - i £:8 3
F ) |eseby - mRK
B ® |e/eby - Rk 408 1,469 3.6
# ] |e/eny - i £:8 3
FLIY - i £:8 3
A& |aveny BT o# | meREk
= D) - mRK
FROLEEA - i £:8 3
X & |B/eWY - 108 464 4.3
At 120 600 5.0 2,299| 13,584 5.9 2,009| 10, 900 5.4 1,070| 5,297 4.9 408 2,113 6.7
LIRS 1 11 3 6 1
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CEHITESCHRS|) (B :PY)
F21m 22 23w o4 Ay
FEH SR g K 4y ggg H20.3.26 i H20.4.23 i H20.5.28 i H20.6.25 i i
LR | AR LR | AR LR | AR LR | AR LR | AR

e |&b5397 - mRK 408 2,285 5.6 408 3, 550 8.7 408 2, 366 5.8 408 1,693 4.2 5,100 38,617 7.6
IELOWD - mRK 918 6,956 7.6
RipoIEL - mRK 1,428 6,977 4.9
# & |boiEkh - mRK 240 1,788 7.5
ORBRTY - mRK 1,728 6,998 4.1
FolLD - mRXK 1,080 5,778 5.4
BT |bEIEDL - mRXK 1,944 5,962 3.1
weDiEN AKX mRXK 2,268 7,063 3.1
B W) |P=ve - mRK 324 778 2.4
vEDIEN - mRK 1,404 4,115 2.9
K B |bEIEDL - mRK 2,203 7,209 3.3
W |avesy [l mRK 324 702 2.2
ITxmE [l mRK 1,080 3,812 3.5
E A |[avesy - mRK 216 410 1.9
IXxmE - mRXK 864 3,305 3.8
&' B |mvely @y mRXK 432 1,058 2.5
aveyy 2 8 mRXK 432 1,112 2.6
aveyy wEy mRK 432 1,426 3.3
vEDIEN AKX mRK 324 1,145 3.5
K ®| |[aves) AKX mRK 3,240 12,528 3.9
avesy o< 120 612 5.1
LA S DS} AKX mRK 1,680 4,716 2.8
HEVDF - mRXK 120 792 6.6
T ¥ |aved) - mRXK 3,120 9,096 2.9
B’ B |mveny AKX mRXK 1,958 4,602 2.4
hETZED - mRK 979 3,207 3.3

# B |AveNY — & 32 of -—
aveyy — & mRK 2,815 13,966 5.0
aveyy A mRK 245 808 3.3
aveyy E= ] mRK 367 1,897 5.2
avesy e % TRk 367 2,093 5.7
ZLNEE - mRK 245 1,273 5.2
B W |aved) - mRK 1,800 3,468 1.9
BN |mveRY - mRK 1,140 3,708 3.3
& #F |[aveny - mRK 756 1,525 2.0
NF=FES - mRK 756 1,777 2.4
I B |aved) AKX mRK 360 720 2.0
= B |[aveny — & mRK 1,102 3,344 3.0
Gl TRk 518 1,166 2.3
B B/ |[avedy - mRK 1,080 3,483 3.2
*XehY - mRK 810 2,741 3.4
B M [AvelY - mRK 1,080 3,804 3.5
vEDIFN - mRK 600 2,304 3.8
B i [aveny - mRK 864 1,426 1.7
NF=FES - 97 238 2.4 97 238 2.4
I = =S D)) - mRK 1,274 2,840 2.2
E/ERY - mRK 108 184 1.7
vEDIFN - mRK 367 1,728 4.7
F ) |e/eny - mRK 259 920 3.6
& m |e/ehy - mRK 408 1,469 3.6
# B’ |e/ehy - mRK 1,836 3,164 1.7
FLIX - mRK 1,620 2,776 1.7
’ A& |mvesy BT & mRK 756 1,231 1.6
E/ERY - mRK 432 1,253 2.9
HOSEEA - mRK 432 842 2.0
X & |e/ed) - 108 464 4.3
Bl 505 2,522 5.0 408 3, 550 8.7 408 2, 366 5.8 408 1,693 4.2 56,594 207,376 3.7

LR 2 1 1 1 56
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